








"1 oumanguage
= POSITION OF THE RELATIVE PRONOUN

3
y Al
Remember to place the relative pronoun close to the noun it replaces.
| gave a chocolate to this boy which cost five rupus ®
S implies that the boy
cost five rupees ll '

The above sentence should read:
| gave this boy a chocolate which cost five rupees. ©

\/\ J. Rewrite these sentences correctly.

1. This car was presented by my uncle which runs on battery.
This_car, which runs on battery, was presented by my uncle. ¥
(

The worker was fired by the manag who wi caught sleepmg in the ofﬁce

A mas weho ic
The pamtmg was bought by a nch collector that was guctloned

7~ t p

P 1 have Duf

i hanio

e ot  Champ-
The people complamed to the pohc whose cars were damaged in the accldent

S

FIRST PERSON
I, me, we, us

SNAP RECAP



